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Tar éis an Dinnéir

Thosaigh Sedn agus Daideo
ag féachaint ar an teilifis.

Bhi cluiche peile ar siul. Bhi
Oisin ag sugradh ar an urldr.
Thosaigh Siofra agus Mamé ag
sugradh leis. Rinne Daidi pota
tae. Thit Daideo ina chodladh!
Thosaigh Mamé ag gaire.

1. Cad a bhi ar siul ar an teilifis?
Bhi ar sial ar an teilifis.

2. Cé a bhi ag féachaint ar an gcluiche?

Bhi agus ag féachaint ar an gcluiche.

3. Ca raibh Oisin ag sugradh?
Oisin ag sugradh ar an

4. Cad a tharla do Dhaideo?
Thit Daideo

5. Cé a thosaigh ag gdire?
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B. Cuir ceist ar do chara. D

Ar thaitin...?
Chaitine (o> Yl Nor haiin

Ar thaitin an cluiche leat? Ar thaitin leat?

Thaitin an cluiche liom. Thaitin liom.

an turas scoile an ceol an scanndn
uachtar reoite an choisir an leabhar
J

C. Fior n6 bréagach.

.

1. Ta Siofra ag ithe brioscai. ()
—/
™
g 2. Ta Sedn ag 6l tae.
—/
ﬂ 3. Ta Tafai ag ithe ardin. ()
—/
™
}m 4. Ta Léla ag 6l bainne.
—/
5. Td Mamé ag ithe pratai.
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Show notes

J7] Warm-up. Listen to your teacher.
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28 Multiplication 1

€1-50 700km

Omm

E Mike had a multiplication test. Check his answers and give him a score out of 6.

1873 20 947 3 888 4 294 5 748 6 943
x 3 x 6 x 9 x 4 x 5 x 5
2,619 4,682 8,092 1,174 5,236 7,145
Multiply.
1. Make each of these numbers 10 times bigger. What pattern do you notice?
@7 b) 14 {c) 85 d 110 (e) 480 1,000 (g 9,900
2. Multiply each of these numbers by 100 What pattern do you notice?
@1 (b) 10 {c) 36 (d) 100 (e) 340 ) 909 (g 990
3. Make each of these numbers 20 times bigger. What pattern do you notice?
@ s b) 20 e 120 (d) 300 (e) 420 () 800 (g 1,000
4. Now try these.
(@) 40 %50 = b) 70x 90 = (e} 110 % 50 = (d) 300 x 30 =
(€) 300x90=___ M 350x100=__ (g 400x120 = (h) 600x110=__

m Oakpark Retirement Home needs new furniture. They have €10,000 to spend and they need these

things:
FURNITUREISALE

3 of the 5 Piece Living Room Sets
10 Meadow Daybeds

5 Leather Recliners

6 Saturn Sofas

7 Pioneer Sofas

2 Micro-fibre Sofa Sleepers

Willthey have enough money to
buy all the pieces? Wha is the total?

5 Piece Living Room st

Sirand Unit ¢
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Topic 4: Multiplication 1
inding the best method

lrold, Susie and Richard need to buy 23 bikes. They cost €99 each.
arold added €99 Susie muliplied Richard used long multiplicati
€99x 10 = €990

€99 %10 = €990 9
€99x3 = + €297 _x 23 Try each metl
and added the answers together. 297 Which is the

Thi

called the multiples method.| +1,980  Why?

Multiply each of these using the multiples method.
1.332x15 = 2.436x17= 3. 223x22 = 4.177x27=
5. 449 x 3. 6,396 x 41 7. 650 50 8. 259 %63
9. 939 x 7 f— 10. 812 x 82 11,401 x 88 12. 900 x 93

[E] Multiply each of these using the long multplication method.

1144 % 16 = 2193 x19= 3. 225 x 24 4.279 % 34 =
5358 %42 =__ 6380 %51 7. 409 x 5 8. 500 x 65 =
9.498 %73 = 10,969 x B 1. 679 x 9. 12,790 x99 =

1. Estimate the answers. i

@ 156717 (0)2099x23 (0 3ASBx36 gy sgo 3
(d) 4,500 x40 (e) 5,188 x 54 () 6,338 x 59 What is 1,467 to the nearest 1,0007
(g 7499x65  (h) 8,069 x 91 (i) 8,457 x 28 What is 32 to the nearest 107
() 9,023 x 21 (k) 9,451 %78 () 8,095 x 87 The estimate is 30,000.
2. Estimate the answers.
‘Then multiply using long multiplication.
(a) 2,189 x 44 = (b) 3,040 x 35 = ) 6,079 x 67 = (d) 7,541 x 56=

m Estimate how much money Mega Bikes will need to buy each of these amounts of stock.
1. 2 3. 4. 5. 6.
0 @€433 | 50@€199 | 30 @ €269 | 20 @ €1,099 [ 20 @ €2,299 | 10 @ €999

80@€999 | 10@€3,099 | 50@€2,769 | 30@ €499 | 20 @ €899 |20 @ €1,059

Strand

Weo|zzl0 o o




image3.png
FolensOnline {&} Panet Maths - 5tn Class

220 o 2]

Topic 4: Multiplication |

g decimals

Bikes have boughtsome e procucts for thei shop, They need - 0 10 €150
round hepric 1o henearest cur before theyare s the shop. (5 1 s dow
you il in the new picst o e
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B3 ey mesured thesetemsaround the classroom. Round esch messarement o the nesest mere.
T Door [2 Whichowrd |3, Chalr [ Dok |5, Drawen |6 Window] 7. Radator
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5th Class have recorded the weght of these abjects. Round each weight o the nearest kg,
TNl Book 2 Pencil Cone | 3. School Bag | & Basketbal 5. Chess St [ 6 Camera | 7 Flower P
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Topic 4: Multiplication 1
ultiplying with decimals

e distance from Galway City to Claregalway is 10-63km. It is 6 times as far from Galway City
laremorris. How many kilometres is it from Galway City to Claremorris?

. Estimate firt! 2. Multiply. Your estimate will 3. Remember! You she
10:63km rounds to 11km help you to put the decimal  always have the sas
- .o point in the correct place. number of places a

1063 x 16 = 63-78 the decimal point.

Your answer will be close (o 66.
10-63km x 6 = 63:

Estimate first, then multiply. Watch the decimal point!

1 (@) 1312x8 (b) 78:45x 6 (€) 2650 % 8 =
(d) 33-89x5 —_ (e) 216 x9 = ) 453 x10 =
2 @ 321x14 (b) €2378x23 = () €1:67x68 =
(d) 4-66kg x 86 (e) 1467kmx 38 = ) €2367x25 = __
3. (a) 2347 x6 pa— (b) 1286 x7 - (©) 9096x15 =__
(d) €20387 x24=___ (e) €567-54x21 = ___ M 12387mx12=__
Case Study. Poir Won,

1. Work out how much it costs Paula’s Pet Shop to feed these pets for the month of ,m
October. All amounts given are for one animal.

Dogs B Parrots
Food: 200g per day, Food: 100g per day,
€200 per kg Fl €1-40 per kg

Time: 2 x 30-minute B Time: 2 x 5-minute
walk per day cage clean-out

Rabbits Goldiish

Food: 300g per day, Food: 25g per day,
€500 per 100g
Time: 1 10-minute
drain aquarium

5 aquariums

Time: 4 x 15-minute
hutch clean-out

2. How much would it cost to feed 5 dogs for 1 week?
3. Which pets require the most time to look after? Which require the least amount of time?

Show notes
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